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The stringency by an ox is more than by fire — WRan W2 NN

OVERVIEW
The Xn>72 mentions various NMMN of MW over WX. Our NMoo1N will discuss why he
does not mention an additional X7mm.

mMooIn anticipates and resolves the following question:
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The reason the 8n>92 did not teach an additional X of MW over WX; namely
that a = is alive and WX is not, is because this X7 is included in the X

which the Xn"72 does mention; namely if he gave it (the P°T) over to a Y''wn, then
by W he is 211 and by WX he is 7> -
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For the reason he is 712 by wX when he gave it over to a Y"'wn is on account of

this very fact that WX is not a ’n 5v2:> however if he gave a MW over to a "W he is 2’17 since a
T is a °n 9¥2. Therefore it was not necessary to explicitly state that a "W is a °n %¥2 when it is
already implied by the X of Y"wn® 1on.”

SUMMARY
The X717 of WX not being a n"v3, is included in the X717 of 7w 1"wn? 170n.

THINKING IT OVER

mooIn states that the reason why WX is Mo by 1"'wn? 1Mon is because WX is not a
n"ya.* Previously’ noin explained that it is the manner of the Y"wn to untie the W
and uncover the M2, but it is not the 717 of the Y"'wn to ignite the nny; this indicates
that the 715 by WX is not because WX is not a 11"¥2, but merely that it is not the 777 of a
noma M99 1"wn. How can these two seemingly contradictory mooin be reconciled?!®

! mooin does not state that the reason he is 21 by "W (if Y"wn> 1on) is because he is a 1"a; for we find by 112 also
that if V"wn% 1701 he is 21 (even though 712 is not a 1"v3). Indeed the cause for 21 is not dependent on being a
n"v3; by 12 there is a 21°7 since >1NI1? 1377 (or 073 WINT RN2X R °"12). However the cause of Mvs by WX is because it
is not a 1"va, and without the w77 Xn2¥ the fire would have extinguished; as opposed to a 11"va who is continually
active. See 0",

* See ‘Thinking it over’.

? There is an advantage in stating the X127 of 1"wn% 1701 (as opposed to the X1 of 1"y2) because 1"wn 1707 is a
X7 in 7, and 1"'v2 is merely a X117 in X120.

* See footnote # 2.
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% See n"nx.
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